
2023 PRIMARY 4 END .. QF-YEAR EXAMINATION 

Name: _________ ( ) 

Class: Primary 4 ( ) 

Parent's Signature: ______ _ 

MATHEMATICS 

PAPER 1 

Date: 24 October 2023 

Time: 8.00 a.m. -9.00 a.m. 

Marks: , 100 
---

(Booklet A and Booklet B) 

.. 

INSTRUCTIONS TO CANDIDATES 

1. Write your name, class and register number.

2. Do not tum over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

5. The duration for Paper 1 Is 1 hour.
BookletA 
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SCHOOL 
LEVEL 
SUBJECT 
TERM 

PRIMARY SCHOOL 
PRIMARY 4 
MATHEMATICS 
2023 SA2 

 

BOOKLET A 

BOOKLET B 

011 

012 

013 

014 

015 

016 

017 

018 

019 

020 

021 

022 

2820 

13 400 

.1.. = L + .1... = .1..
4 8 

1 _ .1..= 
8 8 

22.14 

74.43 

8 

90° - 25 ° = 65 ° 

29..,.. 4 = 7 R1 

N . 1 
A S.74

1 7 10 
---

2 I 11 I 11 

0.37 

Area of A-+ 20 x 12 = 240 
Area of B -> 12 x 10 = 120 
Area ofC-+ 20x 12 = 240 
Total area - 240 + 120 + 240 = 600 (Ans : 600 cm2) 

11-4=7

7-4=3

Perimeter = 11+3+7+4+7+11+7=50  (Ans: 50 cm)

30 : 1,2,3,5, 10, 15,30 

54: 1,2,3,6,9,18,27,54 

Pg 1 



023 

024 

025 

026 

027 

028 

029 

030 

1+2+3=6 

6+6=12 (Ans) 

2 nd Week-+ 3L 25 ml+ 21L 75 ml= 24 L 100 ml 

3 rd Week -+ 24L 100 ml 

Toti-+ 24L 100 ml+ 24L 100 ml+ 21L 75 ml= 69L 275 ml (Ans) 

South 

!{,) 

88 

. ----··· 

l 0
-·-----

'"Cy� 
,.,� - (3')

·---

' 
<[ 

'"'[EI]
' 

� 
"�-

Time 7a.m. 

Temperature 

("C) 
23 

Highest= 33 

Lowest= 23 

9a.m. 11 a.m. 

is 
1 .2::2-

1 p.m. 

_1j_ I

Difference = 33 - 23 = 1 o (Ans : 1 o°C) 

1 gap-+ 125.4..,.. 3 = 41.8 

3p.m. 

33 

9 gaps -+ 41.8 x 9 = 376.2 (Ans : 376.2 m) 

1 file-+ $7.90 X 3 = $23.70 

3 Pens-+ $32.10 - $23.70 = $8.40 (Ans) 

2246 

5p.m. 7p.m. 

3QI 
29 

Pg 2 



Paper2 

Q1 

Q2 

Q3 

Q4 

Q5 

Q6 

Q7 

Q8 

(a) 500 - 248 = 252
(b) 252 .,,. 7 = 36

4730 + 1240 = 5970 
5970 .,,. 3 = 1990 
1990 X 2 = 3980

3980 - 1240 = 27 40 (Ans) 

(a) False
(b) True
(c) False
(d) Not possible to tell

3.3 X 3 = 9.9

4.05 X 3 = 12.15

Total-+ 9.9 + 12.15 = 22.05 (Ans : 22 kg) 

(a) Total-+ 20 min+ 1h 5 min = 1 h 25 min
(b) 8:15 pm+ 45 min-+ 9.20 pm

9.20 pm+ 45 min-+ 10.05 pm
Ans: 22 05

(a) $4. 70 .,,. 2 = $2.35
$4.70 x 2 +$2.35 x 2 = $14.10 (Ans)

(b) $200 + $150 = $350
$440 - $350 = $90
$90 .,,. $10 = 9 (Ans)

6x6 =36 
16-6 =10 
40.,,.10=4 
6-4 =2 
10x2 =20 cm2 (Ans) 

2..+.1.. = _s_+� = E.. 
6 S 30 30 30 

23 7 
Women-+ 1-- =-

30 30 

7 S 2 1 
42 Men � 30 - 30 = 30 == is 
Total people -+ 15 x 42 = 630 (Ans)

Pg 3 



3 Adults + 5 children -. $125 
8 children - $125 - ($7x3) = $104 

Q9 1 Child - $104 + 8 = $13 
1 Adult-, $13 +$7 = $20 (Ans) 

Assume all are curry puffs - $3 x 70 = $210 
$238 - $210 = $28 
4- 3 = 1

Q10 28 + 1 = 28
7 X 4 = 28
238 - 28 = 210
$210 + $3 = 70 (Ans: 70 Hot Dogs)

Pg 4 




